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7th year for every half an hour Data set=Study 1/Solution 1 Line Graph: Dependent variable u (K)

—— 3562268 (2)s
—— 3611068 (3) s
—— 3.6643€8 (1) s
3722088 (2) s
—— 3.7806E8 (1) s
3839268 (1) s
— 3.8024E8 (4) s
—3.9421E8(5) s
—— 3.9865€8 (4) s
—— 4.0282€8(6) s
~— 4.0691E8 (2) s
——41l08E8 (4)s
- 41543€8(4)s

o B 10 15 20 25
x-coordinate (m)

30




image1.png
Dependent variable u (K)

2325

232

2315

231

2305

230

2205

220

2285

228

227.5

227

2265

226

2255

Sth year for every half an hour(calculated 10 years) Line Graph: Dependent variable u (K)

—23751E8 (2) s
—— 242308 (3) s
—— 2477288 (1) s
-~ 2.534%E8 (2) s
—— 2.5035E8 (1) s
-~ 2.6521E8 (1) s
— 270538 (4) s
—— 2.7550€8 (5) 5
—— 2.7994€8 (4) s
—— 2.8411E8(6) s
-~ 2.882088(2)s
——2.9237€8 (4) s
- 2.9672E8 (4) s

o B 10 15 20
x-coordinate (m)

25





image2.png
Dependent variable u (K)

2315

231

2305

230

2205

220

2285

228

227.5

227

2265

226

2255

225

sth year for every half an hour  Line Graph: Dependent variable u (K)

—23751E8 (2) s
—— 242308 (3) s
—— 2477288 (1) s
-~ 2.534%E8 (2) s
—— 2.5035E8 (1) s
-~ 2.6521E8 (1) s
— 270538 (4) s
— 3.8083E7 s

—— 2.7994€8 (4) s
—— 2.8411E8(6) s
-~ 2.882088(2)s
——2.9237€8 (4) s
- 2.9672E8 (4) s

15
x-coordinate (m)

20

25

30




image3.png
Dependent variable u (K)

6th year for every half an hour(for ten years) Data set=Study 1/Solution 1 Line Graph: Dependent variable u (k) 3

2325
— 2.9686E8 (4) 5
232 ——3.0174E8 (5) s
— 3.0707E8 (4) s

2315
- 31284E8(4)s
- —— 3.1870E8(3)'s
~ 3.2456E8 (3) s
2305 — 3.2089E8 (1)’
— 3.3486E8 (2) s
230 ——3.3930E8 (1) s
— 3.4347E8(3) s
2205 —— 3.4755E8 (S) 5
220 —— 35172E8(8) s
~— 3.5607E8 (6) s

2285

228

227.5

227

2265

226

2255

o B 10 15 20 25 30
x-coordinate (m)




image4.png
Dependent variable u (K)

232

2315

231

2305

230

2205

220

2285

228

227.5

227

2265

226

2255

6th year for every half an hour  Line Graph: Dependent variable u (K)

—— 2.9686E8 (4) s
—— 3.0174E8(5) s
——3.0707€8 (4) s
- 31284E8(4)s
—— 3.1870E8(3)s
—— 3.2456E8 (3) s
—3.2080E8 (1) s
—3.3486E8 (2) s
—— 3393088 (1) s
——3.4347E8(3)s
—3.4755E8(5) s
—— 35172E8 (6) s
—— 3.5607€8 (6) s

15
x-coordinate (m)

20

25

30




image5.png
Dependent variable u (K)

7th year for every half an hour(for ten years) Data set=Study 1/Solution 1 Line Graph: Dependent variable u (k) 3

232 ——3.562268 (2) s
—— 3.6110E8(3) s
215 — 3.6643E8 ('
- 3.722088(2)s
231
—— 3.7806E8 (1)'s
2305 3839268 (1)'s
— 3.8924E8 (4) 5
230 — 3.9421E8(5) s
—— 3.9865E8 (4) 5
2205 — 4.0282E8(8) s
- 4.0691E8(2)'s
229 —— 41108E8(4)s
4154388 (4)s
2285
228
2275
227
2265
226
2255

o B 10 15 20 25 30
x-coordinate (m)




